-
/\ FI7 LV

oy

= N

Ity #ME:VBALEYITTUH (SCM435)

Nt B _____ I N

P8 REME : 1=/ O—LAvF

5

- T i mE . 10. 9

y s  s(B®)
L= »
uu%}é dx. P S B ds k m t uu% dxL p S B ds k m t

B62-0325 M3X25 0.5 18 5.5 3 3 2.5 1.3 B62-0665 M6X65 1.0 24 10 6 6 5 3
B62-0330 M3X30 0.5 18 5.5 3 3 2.5 1.3 B62-0670 M6X70 1.0 24 10 6 6 5 3
B62-0430 M4X30 0.7 20 7 4 4 3 2 B62-0675 M6X75 1.0 24 10 ¢ 6 5 3
B62-0435 M4X35 0.7 20 7 4 4 3 2 B62-0840 M8X40 1.25 28 13 8 8 6 4
B62-0440 M4X40 0.7 20 7 4 4 3 2 B62-0845 M8X45 1.25 28 13 8 8 6 4
B62-0445 M4X45 0.7 20 7 4 4 3 2 B62-0850 M8X50 1.25 28 13 8 8 6 4
B62-0450 M4X50 0.7 20 7 4 4 3 2 B62-0855 M8X55 1.25 28 13 8 8 6 4
B62-0530 M5X30 0.8 22 8.5 5 5 4 2.5 B62-0860 M8X60 1.25 28 13 8 8 6 4
B62-0535 M5X35 0.8 22 8.5 5 5 4 2.5 B62-0865 M8X65 1.25 28 13 8 8 6 4
B62-0540 M5X40 0.8 22 8.5 5 5 4 2.5 B62-0870 M8XT70 1.25 28 13 8 8 6 4
B62-0545 M5X45 0.8 22 8.5 5 5 4 2.5 B62-0875 M8XT75 1.25 28 13 8 8 6 4
B62-0550 M5X50 0.8 22 8.5 5 5 4 2.5 B62-1045 M10X45 1.5 32 16 10 10 8 5
B62-0635 M6X35 1.0 24 10 6 6 5 3 B62-1050 M10X50 1.5 32 16 10 10 8 5
B62-0640 M6X40 1.0 24 10 6 6 5 3 B62-1055 M10X55 1.5 32 16 10 10 8 5
B62-0645 M6X45 1.0 24 10 6 6 5 3 B62-1060 M10X60 1.5 32 16 10 10 8 5
B62-0650 M6X50 1.0 24 10 6 6 5 3 B62-1065 M10X65 1.5 32 16 10 10 8 5
B62-0655 M6X55 1.0 24 10 6 6 5 3 B62-1070 M10X70 1.5 32 16 10 10 8 5
B62-0660 M6X60 1.0 24 10 6 6 5 3 B62-1075 M10X75 1.5 32 16 10 10 8 5

R E R — 3 5% E
2008. 1. 15 o TRUSCO FSATJDPWIKRREH | 2zvo—snxmrmtL v B62—-0000




